Math 1432

Bekki George
bekki@math.uh.edu
639 PGH

Office Hours:

Mondays 1-2pm,
Fridays noon-1pm
(also available by appointment)

Class webpage:
http: //www.math.uh.edu/~bekki/Math1432.html
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Integrals involving Sine-Cosine Products with Different Angles

If you are given one of these where M # 1
Sm(mx)cos(@ﬁx

:sin(mx)sin(nx)dx

..cos(mx)co s(rx )abx

Use these formulas:

sin AcosB = %[sin(A —-B)+ sin(A+B)]

sin Asin B = %[COS(A —B)—cos(4+ B))

cos Acos B = %[COS(A — B)+cos(4 + B)]
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jcqs(Zx) sin(3x)dx sin Acos B = %[sin(A —B)+sin(4+ B)]

=J -}):[SL(\ (35(-_2)0 ' wn (5)(1*35(5( dX sinAsinB=%[cos(A—B]—cus(A+B)]

cos Acos B = [cos(4~ B)+ cos(4+ B)]
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1.Rewrite sin (5x) sin (3x) 2. jsin(Sx)sin(fo)dx =

1 1 . 1 .
A. E[cos(Zx)—cos(Sx)] A. Zsm(Zx)—Esm(Sx)+C

1 1 . 1 .
B. E[cos(Zx)+cos(8x)] B.—131n(2x)+ E31n(8x)+C
C l[sin(Zx)—sin(Sx)] C lsin(ZJc)—lsin(Sx)+C
2 2 2
D. %[sin(Zx)+sin(8x)] D. —%sin(Zx)+%sin(8x)+C
E. none of" ‘hese

sin AcosB = %[sin(A —B)+sin(4+ B)]
sin Asin B = %[cos(A —B)—cos(A4+ B))

cos AcosB = %[oos(A — B)+cos(4+ B)]
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8.3 Trigonometric Substitution
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1) Given an integral involving \/ a®* —x* use x=asinb .
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2) Given an integral involving \/ a’+x* use x=atanb .
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3) Given an integral involving \/ x* —a
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use x=aseco .




For the following, what substitution should we use?
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3. ForJ.\/x2 —1dx x=?

A.

w0

o O

(7]

sin 0

tan O

sec 0

csc 0

none of these



4. What substitution should be used to compute _[

! dx?
\/x2 -9

a. Xx=3sin(A)
b. x=3tan(0)
c. x=3sec(f)
d x=3cot(f)

e. None of the above



5. What substitution should be used to compute J

1
dx?
Vx© +1

a. X=4sin(0)
b. x=4tan (0)
c. x=4sec(0)
d x=4cos(0)

e. None of the above
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